lab 111 Momes

ﬂ $The reading of the micrometer is

gy 77,260 mm
<y 7.760 mm
&) 7.26 mm

Qa) 7.76 mm

L% The reading of the vernier caliper is

) 28.45 mnm
i) 20.10 mm
&4 28.60 mm
£4)18.10 mm
g;g} 20:60 mm
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If the index of refraction of water is 1.33 and for glass is approxirately 1.52, then the speed of

light in water

) is the same as the speed of light in glass.
s+l is smaller than the speed of light in glass.
{1"¢) is larger then the speed of light in glass.

¢y} is larger than the speed of light in vecuum.

@) is the same as the speed of light in vacuum.



{}j’ﬁw following figure represents an oscilloscope display and showing the voltage on a capébitor of an

RC circuit. If R = 4000, and the voltage multiplier is set to 1 volt/div, while the time base is set to
50 s /div; answer the following tiwo questiofis — Tt .

¥ The time constant of the RC circuit is . . / /
approximately : l /

see A
{ ﬁ} Sus

% The value of the capacitor used in the circuit is approximately

i) 0.05 uF,
B 10uF.
) 0.1 pF.
d) 10 nF.
@ 100 uF.

! ; ignal generators to the oscilloscope in the external mode. The x-channel 1‘1as a

£3. You connected two signal get ; : e

- sinusoidal signal input with a frequency of 1000 Hz, while the y-channel ha : o ? !
input with a frequency of 2000 Hz. The figure that will appear on the oscilloscope display
similar to

@ &




Birzeit University

Physics Department
Physics 111
Quiz
ID#:4 Section: O
No. Problem Answer Displayed Ansvx}er Expressed
by. Calculator to the Correct
Number of
| Significant Figures
1 6.12%0.5741 3.513492 2, 51 7
2 1.0367%2.7 0.210458 o2 V-
133
3 15.34+6.127-10.1 11.367 o 4
4 71.349 8.7010976
8.2 A
5 32 +5328+7. 44 428
3 8§+7.1 U e
6 | (14477 209.3809
| | 29,4
7 | 1“(234) 0.875469 022 |
V18.67 43208795 | Y32l 7
9 |
$in(72.4°) 09531907 | % 0,DX
10 X &
tan(51.63") | 1263044 | ‘263
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Focal length of a convex lens:

Quiz

What is the physical quantity that we will measure in foday's

experiment?

DC circuits:

A student made the following connection in the physics lab.

.
"‘\,:‘Q;\ AN
5

And he obtained the following I-

V characteristic graph by changing the

value of the variable resistance connected in the circuit

Fez ik
1Vs V AR ES
A\ |
5 i
3 2
S S S E
V (Volts) R.L N
Alsoc he saw *that The color code of the resistance number 2 was violet, @V
green and black for the three nearby colors and the far coloawas
silver. » A o e
F5 VA6 F Qoek 0 s
megf\ \ \O o
Qua 2 50 ‘
3 N
1. What is the value of R2? ﬁﬁ; 7 ‘3 Re
2. What is the valug of R17? Crgeet 5 ro°
_'\D\'M-» 'é,,/ ;OE_,
welet ¥ 6%
g
Gﬂ’fbf)’""‘ 105%
A«:aét- ? 3
‘Jv%’:?’ﬁ'
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Physics Laboratory 111
Quiz #2 -

A student made the following connection in the physics lab.

T ampmernomeestegene T

And he abtained the following I-V characteristic graph by changing the value of the

variable resistance connected in the circuit

VSV

V(volts)

w

Also he saw that the color code of the resistance number 2 was violet, green and
biack for the three nearby colors and the far color was silver.

1. Whatis the value of R27
2.
3. Whatis the value ofR17

What is the value of R-equivalent for the parallel combination of resistances?
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1. For the pendulum shown on (he right, find oul

" Ihe period of ascillalions T, gwen that 8=15°, ond 7

x= 10.55 cm

—T=uIry
B L/ (P> - wrs 1t = o

l s X N .
S‘\‘(\Q—_-____m_ ‘25_% \O 25
L= Y1y ANNGE
9-Given {he equalion S L B
heh e

Te 4D Oeec

fg-s‘m@‘

answer lhe followings -

a) Whot lype this equation 15 7 L G= 10.3C

b) Moke g skeich for this equation (h v t)-

¢) Change the equation inlo linear equation .

lall) - Authoy = <Ak g2
intarcapt o icho) gok - v
%EQ\DE ~in ‘_”/S

d) Moke anolher skeich for the new lineor equation .

- /\-’{5 Sit’\@\“ ' o

Gooé Luck -

f/\ﬂa - siw &, | _ \*‘b 5 T
Sl‘y\_‘ @ o s \i—d
o i r \X'\v
g c§ M3 Ny
/F_/Eﬁ_:,_,,_, - AV




oo s ATE the.colors,of.the resistor, you got from the graph?

+
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Birzeit University

Physics Department
Physies 111
Name: ..&wm\a...&meﬁ)....&%%&h ......... Student number: \0%e. 0.,

i- V characteristic of a resistor

g
2
oy
0 2 4 6 8
I {mA) ~
From the graph shown above, find: /
P Ll P . S W

1- The slope of the graph. Slope = .’.‘f‘;;,,r..w.,, T
2-  The Value of the resistor. R = helift. sdmmun.= 26 06 . " pp—=" 5

3~ The unit of the stope. The slope unit = . el (=20 AY 2 = v
4-  Theunit of R R =.fleiieierannnee - e

Knowing that the color code key of a resistor is as follows: Black- ¢, Brown-1,
Red- 2, Orange-3, Yellow-4, Green-5, Blue- 6, Violet-7, Gray- 8, White- 9. What

The colors are

1- The first color is ...nae ek ... //
2- The second color is . o=, Bivwe
3. The third coloris . Brawn........ e

7
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| Physics 111 ,
Name: .%l.(ﬂc?.uu };)/“C}wwaaé ........... Student’s number: ]Q? 13496

-

\
. R s =
o B vy
) % et e

Focal length of a convex lens

0.05

a0 Y5

0.04

0.03

1 (Tlem)

0.02
0.01

S o L . ;
O : I ] ;
aa3

0 0.01 0.02 0.03 0.04 0.05

1/ u {ifcm)

T

A student drew the points he got from the focal length experiment as
shown above!

. 4 : o 4¢

1. Draw a best line for the points shown above. i
2. Find the values of 1/f from intersections on both axes. Lz prod® {
1= o:ojS/,..- ( 1/f= a,}p/?:q (um) L, J.iqu

3. Find the values of f, e A
=20, 2 () 95, 6yt

4. Find the best valge of f £

. — P [ {‘ = ff/ L f' ¥ 2’) T

IR - f 23‘/&] € _ - xéf (222 4 2 5.6) - 23, 9 wn t'_ .

5. Why do you think we got two values of 7

38%& f’-‘”d’l lens e s ’hdo fag.a{ -(Eﬂg’H’}‘s,
| P
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(33: The index of refraction of glass is near 1.52 and the speed of light
in vacuum in m/s 3x10° What is the speed of light in the glass?

T
—

\xﬁfi), — 5?@/ (L V{AC,{/LL\—-:; :_9 !;6’1: _?Xl(’)%
5 j,’)«é’_,e..vf t(ta-_. ./{?/u VV‘-Q.;A—(“}(AM 5/72 t&za/ti‘" 5{@4

-
A = ~ & ,
/W { mﬂym S |\ \O\’_‘_ X\O \N\_VS
(34: Put a circle around the correct answer:

a-In the method of least square fit .the expression for the best line is
drivated from: -

e gt

A o= Y (Vi yi) i§ minimui =

b) of= T . (Vi + yi))  is maximum

a, oY) o'=" (Yi-yi)’®  is minimum

/ M cd) =Y (Yit+yl) s maxinum
b-Two pendulum with different masses m1,m2 and same string
length (1), if you know that m2>ml the period of

a) first pendulum is greater than the second.

b) First pendulum is less than the second .

@Two pendulum are f
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Birzeit University
Physics Department

“error in constant= (.001

Phvsics 111
' Student no.:.. 4

Least Square Method Fit
A student did the Data Regression for the Helical Spring experiment to find the

constants K and mey using the equation T° = 4n'm/K + drlm /K. - ,
PR N
' S

The results he got are: == T L/ /(
x coefficient = 0.33 : { o

! A ' rb
errer in x coefficient= 0.01 \i) ’f,_\\"‘” R b
constant= §.005 N

Name:&

find X, AK, mey, Amegy and their units, knowing that T in seconds, and m in Kg

I MUY
¥ o = R K P
;’7/,(, - - ?3
4 - OA
%W N-T-r e
T . .oooh
b |
§ oo e D
o}
i —t o
¥ o~ U\—'W‘\}\ s oo = . e
A /o/ -2 ST A G A B
. + P
K = T - 3%
K AK Meg ARy
Unitor K=

Unit of mesme
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Name: @fﬁiﬂ ig4d... Studentno.:......
- Half life of a draining water column

Water column vs. fime

fh0 {cm)

40 60 80 100

i sec)

0 20

The above graph shows the relation between the water column height ratio (h/ho)
versus time, where h=hy e, Using this graph, answer the following questions:

1- What is the valune of 11,7

A ‘
V\ -l ¥ @ W\QVL - /ﬁ\"m ' -
\\'a \ i

™o

jﬂé@ﬁ IAY = — 8w’ +

2- What is the value of the decay constant (A)?

-3

g(g}&g,: M(A S = 0. 48 - ©.bo _ g 03

Yo — S o
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Name: Om ay 5‘(]’51 hee v | ID#: ‘,OO‘OQ\ 7 Section: 3

The following graph shows the relation between the height of a draining water
column and time. Answer the following questions.

) 50, ¥ 1] ¥ H T

i ' ' i '
H ' . ) +
L H ' i 1 :
+ 1 ) 13 .
[ S S AP SRy SO, Vasummma—an =
. 1 ' H '
H H ) i I
v H H H i
¢ - ' . '
50+ ey ma et hd - . [ -
i T T T 1
1 a ) ’ 1
* ] T £l . 13
r ' ' i ¢
I} N ' [ 2 +

4B permmemntons T T Lt -t

N IR I N

40 Mm.ﬂﬁfmm «..E. e

2 N B

B0 I NS Y 1 s S N _
Y SSRREE SNSN: S1 E) —

IMU L i ; :

0 20 40 60

t (seconds) -

) Findhy (O H" /

2) Find tn. éb/ — 14 -

PR #

3) Find the decay constant (A).
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Quiz

: /,/,,
Student Name %}6/[\4 /‘ M/b /f/q [ Student ID: 070

1-Define the half life time of a draining water colummn? i
iLis 6\“\? 'C\W@-(\\W&‘%W ulees) dzg-‘ﬁ&"tpr\\uu\mﬁo—k y
A wed Lo conttatn Qs VTQQW é:Z =7 4*7/2; _
Ori%y el @c&wp{z g _

2-1.inearize the following equation(Write in a straight line form):

What is the slope and the y-intecept of the the linear equation?

Slope= 2 4 N Loy = la(oaa™™),
. E ‘ o (h) = 4#1 Cbto') <+ ~
y-intez"ceptz éﬁ(%(& (e . )

[ Ch) ~In (=) _ » G—*_%&‘\
Ll e D R R
3-Wat is the aim of today’s experiment? ’? = =N
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aliatl]

t sec) f[',/g(’l\s

The above graph shows the relation between the water column height ratio (hvhe)
versus time. Using this graph, answer the following questions:
1I- Whatis the value of t;,7

-t - AL '
b =hoe | paa —Ln(d) = Ine o Anl —A%
e e Hd) = -,fvu—éfﬁ? = AN kL
= f/ e VEE

/ 5} > 7o e\C/

%.,.-—f 3 Q,_j!,
by v
“i '# a@\ \/
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Student number:-s :

|
: I- V characteristic of a resistor

V {voif)
I
O

From the graph shown above, find: AV 34 —~ 5O s
The slope of the graph. . Slope = . om0 , N AN
The Value of the resistor. R = —7?: SRR g : "/h = m}f N
The unit of the siope. The slope untt =. —w%”';/ e =LFare) ot g./'/ Vv

{ Anls a mp‘?mfs : T g

The unit 0f R, R =, v G KQ"\A \/Y\\ . / 7
s

Knowing that the color code key of a resistor is 4 follows: Black- ¢, <BI’_GWD.—1$
Red- 2, Orange-3, Yellow-4, Green-5, Blue- 6, Violet-7, Gray- 8, White- 9. What

\ ; . wg
are the colors ef the resistor vou got from the grap
o = ”2_
A N S22

The colors are .
1- The first color 18 \II
2- The second color is ... L
3- Thethird coloris ..,
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Focal length of a convex lens

1 (1lem)
<o
[
N

0 002 0.04

1u (1/cm)

0.06 0.08

The graph abeve shows the relation between Liv {T/em) vs. I/n (L/em). Answer the

following questions:

1- The y- intercepr=

a) 0.08 (1/cm)

b) G (1/em)} ' '

¢} 0.065 (cm) N
“d) 0.065 (1/em)

2- The x-intercept =
a) .08 (1/cm)
b) 0 (1/em)

? 0.06 (cm)
(3)0.06 (1/cm)

3- The focal length of the lens found
from the y-intercept =

a) 12.5 cm
@ 15 em AN
¢) 0.065 em
d) 0.065 (1/em)

4- The focal length of the lens found
from the x-intercept =

f’&j‘ 12.5cm

\_b)l’] cm

¢) 0.06 cm

d) 0.06 (1/cm)

5- The slope of this line is:

a) positive Mositive )
(bVnegative 7 “BYnegative ¢
i

6- The focal length of the lens is:

c) 0.03 cm™
d) 0.04 cm’

¢} 1o sign ¢) 1o sign
1 d) it depends d) 1t depends
7- If /u= .04 e then 1/v= 8- If u= 10 cmn, then v=
2). 0.01 cm” a) 12cm ’
{b) 0.02 cm’™

£ 17 cm
150 cm

d) No real image




PHYSICS LAB 111

Name Seetion b oL 5'2'. .............
Student # Date P Rl e 2 = R

r —‘-\1
Tk {1 Howe b ) (\“E‘;}
v Silewr ppote ’ ' —
* b ' gty ol ! g »
Resd Gold & s AN ( Ay
Ry |

[
2
\ Efuus;_u: 3 Rt L In R, { .

Yelbne o8 v
Cirew 3 ﬁ
Fllue i 5
Yided 7 I

3

Ty
White v
‘ R, = B Blacke

wewsen dbettaw  Rdge g et
» by the adjacent plot several voltages (V) i e — 5
maed Alieir correspanding currents (1) are P -14p ...!.‘s-':.'..,
reconded for the creuit shown above, 20 e
Use the plot o find the value o R, Y A /j}’
{volis} o b oagtfiada .
4['/
2 S N
3 k- . N N PR SO
: \ n -
i o SR SN IO NN TR B

> ' W p R I B T
}L'i b }fl} + 3“/\ = ‘ u J&’: ;fJL 1 (i) rf;‘:; ) \,‘!

* i ‘ ;.J:'J ‘\’ - C"
VJJ{LM’\ V - 3 J‘Irﬂ": fe o ,/ F’,’:)m : gérf’j) [ R - L 7 -f/ -

Rz 22 < o3
fow {

- N /:""_:M\
Rz Ry e —_— Ry (37T )
. ' \'\./

N Ry 1w

© What is the aim of'the experiment you are going to perfvinm taday 7
3o ~ 2w re

e

jlapf . _..._'_D_._v = o T e

iy oo ~b67 35 ,
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Birzeit University
Physics Department
Physics 111

Name: e -SRI Student number:
1. In RC cireuit, R= } M Chm, C= 22 Miero Farad, Find the Time constant 7.
\ = @ Q~~\\$\0\\’3”\0 \" N
<
\
NIy

In RC circuit with a constant C, how can we increase the time constant?
\/ D €2 oun \m_\f?csuﬁgncﬁ @

'—"—7 f‘j‘i@/a L//’IC /’\/—f[/u(f’ 06 n)mf' (P {1- ) i C 'fr@ngg :

Q= Qp e What the shape of the graph between Q and 7

NVAR

|

. ke,
Y gizd
A i
4. What shouid we do to get a straight lins whije drawing a graph that shows the relation
between the Voitage of the capacitor snd the time (‘\'ol*acc vs. time)?
4 /4
- , J/ = W o c”)z,f) A1
A& L/{g@&c SR L 7
/ N e g ' . /
BRTAY — X l S ! i‘ = 7 ; . /o ,//
Ry A L i P //MS //&;/3!;?? o A &
\ /

W(,--f Rl g i d S" KOG?* \/

— _- , > Mg ///f-,,fﬁo,
the j;/cy;/f( QV\/S ) \ O S‘Yr \erc/&?/ !
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_ sz
Student name:- /‘:4()"(&-'1% H (,{'wxmo}
Student ID:- (00546 section:- 44

Q1:
Suppose you have a convex lens which has focal length 15.00cm and
you put an object 20.0 cm apart from the lens and if you given the

uncertainty in focal length 0.15cm and the uncertainty i in the object

distance 0.2cm , find the 1mage distance and it§incertainty ? -
e e WRITNe
e ““_M_“ =1 o j;ﬂ, oy }g?“
J>\L— 0,23{3""1

-—?~:~.:,_L +~“‘L' = O\? =S \/VL

Q2:- Calculate the half life time from the following curve /y;\?%/w -
Then Write y-hae , you have to ﬁncj@;}and A ,:gc\_é,__ ' S

Hight of Liquid Vs Time 1

\'u;“‘m \oow

5"«"'{' & 10‘&1 - ' e e

3
qu} = 50 AN g
7 rpé’*’“ 2 Se\; B E

—

ikv} f)/"«/(:—— 2451,%

oy W e e
P gtk E (|
o= 100 o éﬁ b gz |
L dﬂ/ {’éxk@ el Qjﬂwmf %_J d/fL ;. 6[ M %— (A _

e Coran

7@/ - / Xt
I PP iy - ’ ~A Ehy
s AR E N T s e S S D -




Q2) The following graph (on semi-log graph paper). isVvst
V= the decaying voltage of the capacitor | |
Find: the time constant v and the maximum voltage ¢ - .. - ’

Chart fires i L H{see)

Vivoi}

Guom

0000
) 50 106G

N =B Slopc#

Y
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M Birzeit University .

%?ihy&*ics Department

}'/7} Student nams: ] Qoeed "P jysies 111 - Section:- 2
) &,) Student ID:- i091567 /
-~ QE - l
/)/\/% ~-Convert the exponential equation Y =A¢ T linear equation, then
- determine the slope and ¥ _intercept.

AU AT Ak
Y
avs / Ao &
) ,////
/L/ -~ ' ' -

b

—

Q2:- Calculate the | ?a?;ii lite time from the following curye
Then Write j’mh £, you have to find h, and A.

Hight of Liquid Vs Time
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) Ry 1% | Vet gy By ;9 aioﬂ

@_: ‘qﬁ : :]‘v_j\,. — St A :

"l tie adjacent jot severnl voltages (v) it ‘i"”“‘-“ p <
zad their corresponding, curients (1) are BT R B
recorded for the " cireujt showit above,

Use the plot to Gud tho value ol R, = &
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Birzeit University
Physics Department
Physics1i1.

Name: Section: 2

The voltage across a certain capacitor in an RC circuit is described by, the following
equation:

V(1) =5.0(1-e*)

where V(f) 1s the voltage acyoss the capacitor in volts at time (1) in seconds,

1} Does this equation represent charging or discharging process?

e

ey

3) If R=1KQ, find the value of C.
RO

c= B

[
t




BIRZEIT UNIVERSITY
PHYSICS DEPARTMENT
PHYS111
Quiz

Section: 2.

 In figure 1, the reading of the voltmeter is (2 volts) and the reading of the
ammeter is (40mA). In figure 2, the reading of the voltmeter is (2 voltsy and
the reading of the ammeter is (16mA). Find R, and R,. 2

R I
A ‘7‘1#-'*'”’17" z,c: Ty

‘ Er/' (:2 v _‘;li__ - < T 50 i [ e -{y/ -
C/'L AL oo X \i/ FE“_E}/\A_M:L
p :
ﬁs‘ b R s Rz - B-= V;w.;\—m - - — R R C.‘ﬁm’e %

Yk 2 )
3 PV Te A
R‘ —’t‘Rtl’ !‘?_‘57_/ J6x t )

Fo b B2y = :Rz =/25-Se . gﬂw
In figure 3, if u=30.0cm and v = 60.0cm, find the Tocal length (f Yof the

lens.

s:‘ e o
| 1 .
" ] .
- ™~ ' RS
£ T =
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Physics lab 111
Student name:
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o For the following circuit find the value of (R )if the

value of E is 10 volts and the value of T 18 0.2

R ST
Ampere.
20 Chrn . A0 O
DYyl r_..._
| ! \ .
EEN N - S \0
o~ ) l_/
.__..f"'v""*z" N > L
50 Ohm 20 Chm
E
NN
|
R _\‘_\f)‘w\(.. D\O - m\ O Yo 12
| Q.2 |
) 320
R 8050
VAR
R:“- /( 8 T 0-% 2

« What's the qim of Today's experiment:




Quiz #3
. Physics Lab 111

1. Carbon 14 (CM) '« used To determine the age of fossils; ifs decay
is given by: :

' : / ~at
- h N () =N e
Where N(T) is the number of remaining afoms at a time T, the half
life time for (C 14) is 5730 years.

| & Find the decay constant for( Cia).
. What's The Time requnrad obtain half the original number of

omS(CM ‘
% d<5 SDQMEN \ :.
ﬁ/ hat's the fime required To have a quarter ofthe original

‘ number of atoms (Cu) undecayecP

/}@/ & 2. A capacifor is connected in series with a resistance and voltage
source That suppiies the circuit with B volts DC, if we obtained The
ollowing graph For r the charging case:
wd
.6
| 5
“
g -
S5 2 I
0 31
o, 150
3 T (sec)
1 ) Find the fime constant of The Clr‘CUI'l'
*l b) If the"given resistor in +he circuif is 1M ohm what is the
value of the capacitor used?
¢) Find the time required fo charge the capacitor to half of i1s
4 maximum-valses
w3 &

| > T oe
ot r~ U 3 ! - z
% L @ : LJ‘ S —q\ -

E]



Birzeit University
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Physics 111
Quiz # 3

Name: No.: section:

The graph shows the voitage on a capacitor vs time in an RC circuit in both charging
and discharging processes. .

L

H . ’
U001 B 03 04i 605006 BO7 008, 808 0.

{'{sen)

v = 5%ﬂ(63‘23

1) Rind the time constant-from the charging curve (t) . M T
M = 0.0 S< < B L=o.02
A Gi vy

2} Find the time constant from the discharging curve (td). \j ' . 5 R o, 3 == I,
YVIsy ok -
oS S
G025
3) If R=1K olum, find the value of C. Ro\veo S
T (L |
.00 0% T leee X C ﬁ") i

7
4) Find the half life time and A for the discharging curve.

IR RV EN

-

2

5) Explain the relation between A and time constant t in the discharging curve,
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Birzeit University
Physics Department
_ Physies 111
Name: L2goma.. LRl Heamadd Student number: .. 0. 30 AT?

1. I RC cir{;uit, R= 1M Ohm, C= 22 Micro Farad, Find the Time constant . C::‘«——‘——T
- -6 s = ‘
t=RC =S e 6T K22 = 29457 ii’l/hw/l
-G
wdF Kz 10 e /

El
9 2. In RC circuit with a constant C, how can we increase the time constant?

L_Rc HC catant =t fime comstant gyl Medcasing  when

R“"(‘V‘l CYCRS ;,{5

1. Q= Qq¢"™ What is the shape of the graph between Q and 7
4, What should we do to get a straight line while drawing a graph that shows the relation

between the Voltage of the capacitor and the time (Voltage vs. time)?

BL cirgk Cdis CMO\V\%C . DR‘ ., RC C;,\'tfcx-_u"b et drﬁw\‘ﬂﬁﬁ

SEPRTIe 4T YRl mie e iy

g
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f(ﬁ recosded for o cireit showy ahove,

Use thc Plot o Gind o vilue uf‘ff%.
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,Suppose you have & cOBVEX lense which has focal length 15¢m and you put
3 object in front of it 5O ihat the distance between the object and lense 20cm where

will the image produce? J.; IS G
\ { (/('-’L':
’__L_ = ,.,_——S_p_ — E R S}
\S “ b ) l, “ »L *j»
1 - 29'-%\{ ) T = BED w1 £ N ﬁ “ v
ts 2 |
__L_ﬁ,,,,, N - FL ,L— T e »%__I_-
'\j = , = 3 oo I L vV
S - £ <, WA S A A S
v oods

(2: Student ¢o experiment no. 5 the following data wag obtained
F=14.774 cm , w=20cm, v=30cm JAu=Av=02cm Calculate the ymeertainty n £ (A1)

And write the final result as £ £ &F ﬁ _ et AV .
I ~f=7
@F‘:FZEQ—@%M{.QM 1 \A'_’fLU Cv ﬁ d
: . Y AV Bci R 3
L\\)\‘Z},T;U'Dl I:O'Q_ + 0.2 MA =DV E 60T L O l ’
Fo ets Y ‘(
SH A _ev DY S
pr wv 'S Y
‘ e
gt [ O~ 2. - 2 L
DL - § (ZQQ" v :;;T‘ N //.»-‘(
. (™ - :

7

5
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Birzeit University
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Quiz

Student Name: Student [D:
1. It’s known that the Spe,ed of hcrht in vacuum is 3x10%m/s, and it is known that in
plastic the speed of i ght1s Z. 06%10°8 m/s, find the index of refraction of plastic.

T 3we® _ Y
2.06

Q2: Put a circle ar ound the correct answer.
Tn the method of least square fit .the expression for the best line 1s drivated from:

%= Tia (Y1 - i) is minimum
. 1 o roo iyd . . \C"\(V.\V"
g'= 3 = (Y1 +y1) 1§ maximum \ 5 Q;ﬂ >
:" - 2— .N - y 3 TN S o e,
o=y (Y- Y1) is 11'111111’11111D
N f aders ¥

RO

1 . .
o= TN (Yityi) s THaxX1mun

3. A beam of light passes from ai to a block of glass If the angle of ncident is ]_Qj?
,and the angle of refraction is 6.72°Find the. index of refraction of the class giving t
the index of 1ef1 action of awris 1.

:@ MQ‘%\&O&B M%J&n 5.F9
C i




